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3 Too Short to Be Seen

(10 points)

Time Limit: 1 second
Memory Limit: 256 MB

Statement

There are IN people in a queue, and their heights are pairwise distinct. They are numberedin1,2,..., N
according to their heights in ascending order (i.e. person 1 is the shortest and person N is the tallest). Mr.
Lee, the boss, asked his recorder to record the sequence of the numbers from the first person to the last
person in the queue.

The recorder stands in front of the first person. Because he is lazy to move, if there is someone taller in
front of a person, the recorder cannot see that person. The recorder is very lazy, so he will record the
number of all the people he cannot seen as the number of the last person he can see (i.e. the tallest person)
in front of them. The recorder knows the position of each person he can see, so he won't miss anyone.
Formally, assume that the number of the 2-th person in the queue is a;. Then the number recorded by the
recorder for the i-th person is b; = maxj<g<;{a;}.

When the recorder gives the sequence by, bs, . .., by to Mr. Lee, he threatens to fire him angrily. To avoid
increasing the unemployment rate, please provide the recorder with any possible sequence a1, az,...,an.

Input Format

The first line of input contains an integer IV, representing the number of people in the queue.

The second line of input contains NV integers by, bs, ..., by, representing the recorded sequence.

Output Format

The output should consist of a single line containing IV integers a1, as, . . ., ay, representing a possible
sequence ai, ag,...,aN.

Your answer is considered correct if and only if all conditions below are satisfied:
o 1 § a; § N
o« Vi 7& Jy @i 7& a;

e b; = maxi<p<i{a;}

Constraints

e 1< N<10°

e |tis guaranteed that the recorded sequence is correct, so there is an answer satisfying the conditions.
In other words:

o VI1<i< N, b; <b;ji1
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o b;>1
Test Cases

Input 1

5
22455

Output 1

21453

Input 2

4
1234

Output 2

1234

Input 3

5
55555

Output 3

52341

lllustrations

In the output of Example 1, for each person in the sequence 2, 1,4, 5, 3:

2: There is no person in front of him who is higher than him, so the recorder records 2 as his number.

1: The highest person in front of him is 2 and is higher than him, so the recorder records 2 as his
number.

4: There is no person in front of him who is higher than him, so the recorder records 4 as his number.

9: There is no person in front of him who is higher than him, so the recorder records 5 as his number.

3: The highest person in front of him is 5 and is higher than him, so the recorder records 5 as his
number.

15/30



Young Turing Program - YTP2023PreliminaryContest_J1

Thus, this is a legal solution.

In Example 3, 95,4, 3,2,1,and 5, 1, 2, 3,4, etc,, are also legal solutions.
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